Lecture XLIII: Ring of Fractions

I

\$43.1 Ring of Fractions:

Let R be a commutative sing and SER.

 $(3) a, b \in S \implies a \cdot b \in S.$ 

We are going to use S to define a new ring, sensted by S'R by "inverting demonts of S"

• Model to keep in mind : how Q is defined starting from Z and inverting every non-zero  $N \in \mathbb{Z}_{\pm 0}$ . Here,  $S = \mathbb{Z} \cdot 307$ .

Definition:  $S^{-1}R = (S \times R) / N$  where N is an equivalence relation on

SxR defined as follows. Qiven  $(s_1, r_1) \in S \times R$ , we say  $(s_1, r_1) \sim (s_2, r_2)$  if there exists  $t \in S$   $(s_2, r_2) \in S \times R$ such that  $t(s_1r_2 - r_1s_2) = 0$  (\*)

In the text bask it is builder assumed that a multiplicatively closed set does NOT ontain zero-divisors. With this stranger assumption, we don't need to include 't' in the definition of N. We will not be making this stranger assumption (in puticular, S may ontain a geo-divisor of R).

Lemma: The relation N defined above is an equivalence relation. <u>Proof</u>: We need to check N is reflexive, symmetric and transitive. (i) (s,r) N(s,r)  $\forall s \in S$   $\forall r \in R$   $(t = 1 \in S \notin 1 \cdot (sr - rs) = 0)$ 

(i) 
$$(s_1, r_1) \mapsto (s_1, r_2) = \exists t \in S : t (s_1, r_2 - r_1, s_2) = (-t) (s_2, r_1 - r_2, s_1) = 0$$
  
 $=_{3} t (s_2, r_1 - r_2, s_1) = 0 = t t \in S , s_0 = (s_1, r_0) \mapsto (s_1, r_1)$   
 $\exists t \in S : t (s_1, r_2 - s_2, r_1) = 0 = \exists t' \in S : t' (s_2, r_2 - r_2, s_2) = 0$   
but und to find  $t'' \in S = inth t'' (s_1, r_2 - r_1, s_2) = 0$   
 $\exists t \in S : t (s_1, r_2 - s_2, r_1) = t t' s_2 (s_1, r_2 - s_3, r_1) = t t t' s_2 (s_1, r_2, s_2, r_1) = t t' s_2 (s_1, r_2 - s_3, r_1) = t t' s_2 (s_1, r_2 - s_3, r_1) = t t' s_2 (s_1, r_2 - s_3, r_1) = t t' s_2 (s_1, r_2 - s_3, r_1) = t t' s_2 (s_1, r_3, s_3) = 0$   
 $\exists t \in S : t ('(s_1, r_2 - s_3, r_1) = t t' s_2 (s_1, r_3 - s_3, r_1) = t t' s_2 (s_1, r_3, s_3) = t t' s_1, r_2 = t t' (s_2, s_3, s_1 - t' t s_1, r_2 + s_3) = 0$   
Nutative:  $t' \in S : t t''((s_1, r_3 - s_3, r_1) = 0 , t t t_1 (s_1, r_1) \mapsto (s_3, r_3).$   
Nutative:  $t \in (s, c_1) = upurative data module is in S \times R module is in S \times R module is in  $\frac{r_3}{r_3} = \frac{1}{r_3} =$$ 

$$\frac{\operatorname{Yunf}_{i}}{\operatorname{Wi}} (i) (s_{i}, r_{i}) w (s_{i}', r_{i}') = x - (s_{k}, r_{k}) w (s_{i}', r_{k}')$$

$$\frac{\operatorname{Yunf}_{i}}{\operatorname{Wi}} (i) (s_{i}, r_{i}) w (s_{i}', r_{i}') = 0$$

$$\frac{3}{3} t^{i} \in S - t^{i} (s_{i} r_{i}' - r_{i} s_{i}') = 0$$

$$\frac{3}{4} t^{i} \in S - t^{i} (s_{i} r_{i}' - r_{i} s_{i}') = 0$$

$$\frac{3}{4} t^{i} \in S - t^{i} (s_{i} r_{i}' - r_{i} s_{i}') = 0$$

$$\frac{3}{4} t^{i} \in S - t^{i} (s_{i} r_{i} - r_{i} s_{i}') = 0$$

$$\frac{3}{4} t^{i} = S - t^{i} (s_{i} r_{i} - r_{i} s_{i}') = 0$$

$$\frac{1}{4} t^{in} (s_{i} s_{i} (r_{i} + s_{i} + s_{i}') = (s_{i} + s_{i} + s_{i}' + s_$$

$$\frac{1}{1} \text{ is Nutual} : \frac{1}{1} \cdot \frac{r}{5} = \frac{1 \cdot r}{1 \cdot 5} = \frac{r}{5}$$

$$\frac{1}{1} \neq \frac{0}{1} \iff \frac{1}{7} \text{ tes } 0 = \text{t}(1 \cdot 1 - 0 \cdot 1) = \text{t} \cdot 1 = \text{t}$$

$$\text{This is so because } 0 \notin S .$$

$$(\bullet) \quad \text{Hultiplicative distributes one additive }$$

$$\frac{r}{5} \left(\frac{r_1}{5_1} + \frac{r_2}{5_2}\right) = \frac{r}{5} \left(\frac{r_1 s_2 + r_2 s_1}{s_1 s_2}\right) = \frac{r(r_1 s_2 + r_2 s_1)}{s_1 s_2} = \frac{r}{5} \frac{r_1 s_2 + r_2 s_1}{s_1 s_2}$$

$$= \frac{r(r_1 s_2 + (r_2 s_1))}{s^2 s_1 s_2} = \frac{r}{5} \frac{r_1}{s_1} + \frac{r}{5} \frac{r_2}{s_2}$$

$$(\Rightarrow (ss_1 s_2, rr_1 s_2 + rr_2 s_1) \sim (s^2 s_1 s_2, rr_1 s_2 + rr_2 s_1) - (rr_1 s_2 + rr_2 s_1) s^2 s_1 s_2)$$

$$= \text{t}(ss_1 s_2 rr_1 s_2 + s_1 s_2 rr_2 s_1 - s^2 s_1 s_2 rr_1 s_2 - s^2 s_1 s_2 rr_2 s_1)$$

$$= \text{t}(ss_1 s_2 rr_1 s_2 + s_1 s_1 rr_2 s_2 - s_2^2 rr_1 s_1 - s_1^2 rs_2 r_2) = \frac{ts^2}{(0 - 0) = 0}$$

Consequence :

543.3 Examples:  
() 
$$R = \mathbb{Z}$$
 ( $\pi$  any integral domain)  
 $S = R \cdot 30t$   
 $main S^{-1}R = (R \cdot 30t)R = Q$  ( $\frac{c}{s} = \frac{c'}{s} <=> t(s('-s'r) = 0)$ )  
 $T$  is an integral domain  $\iff [ab=0 \Rightarrow a=0 \Rightarrow b=0]$   
i.e. (0)  $\subseteq R$  is a prime ideal, i.e.  $R \cdot 30t = S \subseteq R$  is multiplicatively closed

Notation: 
$$R$$
: integral domain  
 $F(R) =$  "hield of fractions of  $R$ " (F for Fractions)  
 $= (R \cdot 30E)^{-1}R$ 

Lemma 1: 
$$F(R)$$
 is a field  
 $\underline{3uof:}$  It is a field because  $x = \frac{r}{s} \in F(R) \implies$  either  $r=0$  ie  $x=0$   
 $\pi \quad y = \frac{s}{r} \in F(R)$  is  $x^{-1}$ .  
In particular,  $F(R)^{x} = F(R)$  if  $y \ge 1$ .

(2) A non-integral example:  

$$R = \frac{2}{62} \quad \supset S = \frac{3}{1}, 2, 4\frac{1}{2} = \frac{3}{2}2^{n} : n \in \mathbb{Z}_{20}$$
In  $S^{-1}R$ ,  $\frac{c}{S} = 0$  ( $\Rightarrow$ )  $\exists t \in S$  with  $t c = 0$   
So  $\frac{3}{S} = \frac{0}{S'}$ ,  $\forall s, s' \in S$ . Illuoning,  $\exists b$  elements in each  $\infty$  in  $S \times R$   
 $\frac{0}{S}, \frac{3}{S} = (s-1, 2, 4)$   
There are  $\frac{18}{6} = 3$  elements in  $S^{-1}R$  (supcontations  $\frac{0}{1}, \frac{1}{1}, \frac{1}{2}$ )  
In beed,  $\frac{1}{6} + \frac{3}{7}$ ,  $\frac{0}{7} + \frac{3}{2}$ ,  $\frac{0}{7} + \frac{5}{5}$ ;  $\frac{0}{7} + \frac{0}{7}$ ;  $\frac{0}{7} + \frac{0}{2}$ ,  $\frac{0}{7} + \frac{0}{9}$ ,  $\frac{0}{1}$   
 $\frac{1}{7} + \frac{3}{7}$ ,  $\frac{1}{7} + \frac{3}{2}$ ,  $\frac{1}{7} + \frac{3}{5}$ ;  $\frac{1}{7} + \frac{0}{7}$ ,  $\frac{1}{7} + \frac{0}{5}$ ,  $\frac{1}{7} + \frac{0}{9}$ ,  $\frac{1}{1}$   
 $\frac{1}{7} + \frac{3}{7}$ ,  $\frac{1}{7} + \frac{3}{2}$ ,  $\frac{1}{7} + \frac{3}{4}$ ;  $\frac{1}{7} + \frac{0}{7}$ ,  $\frac{1}{7} + \frac{0}{9}$ ,  $\frac{1}{7}$ ,  $\frac{1}{7}$   
 $\frac{1}{7} + \frac{3}{7}$ ,  $\frac{1}{2} + \frac{3}{2}$ ,  $\frac{1}{7} + \frac{3}{4}$ ;  $\frac{1}{7} + \frac{0}{7}$ ,  $\frac{1}{7} + \frac{0}{9}$ ,  $\frac{1}{7} + \frac{0}{9}$ ,  $\frac{1}{7}$   
 $\frac{1}{7} + \frac{3}{7}$ ,  $\frac{1}{2} + \frac{3}{2}$ ,  $\frac{1}{2} + \frac{3}{4}$ ;  $\frac{1}{2} + \frac{0}{7}$ ;  $\frac{1}{2} + \frac{0}{9}$ ,  $\frac{1}{2} + \frac{1}{2}$ ,  $\frac{1}$ 

Check which elements we obtained:

$$\frac{\partial_{1}}{\partial_{2}} \cdot \frac{\partial_{2}}{\partial_{4}} + \frac{1}{1} \cdot \frac{1}{2} \cdot \frac{1}{4} \cdot \frac{2}{1} \cdot \frac{2}{2} \cdot \frac{2}{4} \cdot \frac{3}{1} \cdot \frac{3}{2} \cdot \frac{3}{4} \cdot \frac{4}{1} \cdot \frac{4}{2} \cdot \frac{4}{4} \cdot \frac{5}{1} \cdot \frac{5}{2} \cdot \frac{5}{4} \cdot \frac{5}{1} \cdot \frac{5}{2} \cdot \frac{5}{1} \cdot \frac{5}{1}$$